
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med negative krefter på ti

3434, 2 × 0.01 = ________ 2578, 1 × 0.0001 = ________

8461, 3 × 0.01 = ________ 6296, 1 × 0.0001 = ________

9242, 5 × 0.001 = ________ 5899, 5 × 0.01 = ________

9718 × 0.01 = ________ 8081, 9 × 0.01 = ________

2872, 9 × 0.0001 = ________ 3646, 3 × 0.0001 = ________

7687, 6 × 0.001 = ________ 6292, 4 × 0.001 = ________

8594, 2 × 0.01 = ________ 3801, 5 × 0.01 = ________

7629, 7 × 0.01 = ________ 8108 × 0.1 = ________

2916, 1 × 0.01 = ________ 9185, 4 × 0.0001 = ________

8230, 9 × 0.01 = ________ 8181, 2 × 0.001 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med negative krefter på ti

3434, 2 × 0.01 = 34.342 2578, 1 × 0.0001 = 0.25781

8461, 3 × 0.01 = 84.613 6296, 1 × 0.0001 = 0.62961

9242, 5 × 0.001 = 9.2425 5899, 5 × 0.01 = 58.995

9718 × 0.01 = 97.18 8081, 9 × 0.01 = 80.819

2872, 9 × 0.0001 = 0.28729 3646, 3 × 0.0001 = 0.36463

7687, 6 × 0.001 = 7.6876 6292, 4 × 0.001 = 6.2924

8594, 2 × 0.01 = 85.942 3801, 5 × 0.01 = 38.015

7629, 7 × 0.01 = 76.297 8108 × 0.1 = 810.8

2916, 1 × 0.01 = 29.161 9185, 4 × 0.0001 = 0.91854

8230, 9 × 0.01 = 82.309 8181, 2 × 0.001 = 8.1812
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